
Topic : Limit

MATHEMATICS

DPP  No.  76
Total Marks : 26

Max. Time : 28 min.

Type of Questions M.M., Min.

Single choice Objective (no negative marking) Q.1,2,3 (3 marks, 3 min.) [9, 9]

Multiple choice objective (no negative marking) Q.4 (5 marks, 4 min.) [5, 4]

Subjective Questions (no negative marking) Q.5,6,7 (4 marks, 5 min.) [12, 15]
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 where a > 0, b > 0, is equal to:

(A) n a + n b (B) n a  n b (C) b n a  a n b (D) none

4. Which of the following statements are true of the function  f  defined for   1  x  3 in the figure shown.

(A)   1x
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 f(x) = 1    (B)  2x
Limit
  f(x)  does not exist
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Limit

 f(x) = 1    (D)  0x
Limit

 f(x) = 0x
Limit

 f(x)

(E)  cx
Limit
  f(x)  exists at every  c  between  1 & 1

(F)  cx
Limit
  f(x) exists at every  c  between – 1 & 0 .
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1. (B) 2. (C) 3. (C) 4. (A)(C)(F)

5. 1 6. 1 7. – 1


